gooobobbbooooomb 60 OO

1 oo

1. 0gooo
gbboboooobbbuoooboboboooon

(a) 00 HoOOODODO A=B(000000O0OOOOODODDO
oo

(b 00 H,OODODODOD A#4#B(00000DO0DODODOOOOOO
goboboooobbooooon

A#ZBO0O0ODOOOOOOOO A>BOUODODOOO ODOO
O00A<BO0O0OODODODO OOODO OOOODODOOOO
0000000000000 0000 (00D «0OD0OD0OOOO
co0O0O0040O0O0OO

gbobo obbodoogbobbod

2. 000000000

TX,,...,X,) 00 Ho,OOOOOODOOOOOOOooooooo
oooooobdon0 Hooboo roboobobboobooboon
goboboogooooboo

. 0ogguboogbbuobbuooboboodobbuoobooon
gbobodbbooboobuooobooobooobbobood
gboboobobuobbibbiblae=0000000000000
00 oe=001000000000

0bdd «000000D0D0O0 ROODOODOOODOO Hy
OO000000o0DA#BO00D00D00D0DODOD «OOOO
O0000A<BO A>BO0O0O0OOOODO «ODOOOOO
gboboboogoboboooobbooodgn

4. 0000 HyOoooooboooboo

000 (2,...,2,) 000000000 T(zy,...,2,) 000000
00000 ROOOODOODODODO0OO H,000O0O0O00O00O H, O



opooooo T(x,...,z,) O ROOODODODOO H,OODOOO
gbooboogoooboooooon

2 oot

gboobooodod gwodoobobodao
goboboooobbobooon

Hoy @ p= pio
goooo
Hi:p#p (00000Ou<p, 000 p>p00000000)

0000000000000 XO0O0O0Oooooooooooooooo
gbbbooodgbbbodoodbo

2.1 000 020000000 (000)00

0000000000 H,O0OOOODOO0O0000000 o000
(X1,...,X,) 00000

- 1
X == :
2
7j=1
gdd w g %DDDDDDDDDDDDDD
X_
7 _ Mo
/a2

gboboboooobbobuoooobD 10000 2, 0000

P(|Z]| > z4) = «
0000|Z|>2 0 X0000000

X < o — 24 X 000 X > po+ 24 X

Vi Vi



obooobg ROODOODO

—00, llg — Zg X 00
(—o0, , 00)

g g
%]a [/io—i‘zaxﬁ
00000000X 0O ROOOOOOOOOOO HyOOOoooooo
ooooouoouoouoouoon /0000000
ooodoo
Hi < o ([] oo )

00000000 RO OO 20 2, 0000

(—00, —294)
ogoogo

Hy:p> po
goboooooo RO

(220, 00)

gooo

00 21 000000000000 o0 2, 000000000000<
Z<zUOOOooOobooboobobobooooobobobooooo
gbbodgbboodbboodgbbooobbooobbbooaoobo

021000000000 p11900 6.10 0ODOOOOD 100 44
obobooboboboboboobgss4bbobobooboon
N(50,10*) 00 000000000000 DO00O0O0O0O0O0O0O 100
Oooooooobooooo?

O oooboboboooboboboboob Hyoboo p=50,H, 00O
OO0 p#p 00000000 ODOOODODOODO 500000000
000000 10°0000000n=4400

X — 50
10
Vai

000 HOOOOOOOOOOOOO(@OOOOOOzp=1.9600
Obz00000O00O0OO0OOO0OO

Z = 554 =50 = 3.582 > 1.96

10
V44

oboobzZz00b0o0obooobooboub Hy:p=5000000
gbbobuoooobb11uo0bbbooogn

7 —




0 2.2 (00000000 p12000 620 0OO00O0OOOD0O0O0O00O
00000000000000 12000000000 150000000
00000000000000000000000000000000
00000000000000000000000000000000
000000000

Hy : < 1200

obooboooboobboboobg sbbuobuoobboobd
gb 1ogobbbooogbobbod z0 110000000

X — 1200
150
V10

ObOobDoobooobooboobonn Z < =210

X=1000000000007Z==-2180000000000 #1
Ubb0DbO0O0z 000 «oODOO0OO

7 =

P(‘Z| > ZO.l) =0.1

Ub0b z;0oooogbbbobbduooobobobbuoooobo
gboobooogobooo

P(Z > 21) =0.05, . P(0<Z < z.,4)=05-0.05=0.45

obooboo 10 40000 od40000Db00obboobbOoobd
UOz=1640000000000000000000 0.4495 00
z=1650000000 0450 DO0O0O0O0OO0O0O 2000 1640
16400000

gboooo 0000

z—1.64:1.65 —1.64 =0.4500 — 0.4495 : 0.4505 — 0.4495

gbboboogd 000000

0.45 — 0.4495
v = Lo o5 " 0.da05 — 1O

O00 Z=-2108< —%1 =—-1640000H, 000000000
gbobobbooogbbobbuooouboooobobooooobo
-1 >-—-165 0000000000000 Z=-2180000000
gbooboooon




